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(3, 5) alaaill sxie 0L,V Gizia) Gulosl! dsles a2lf(X) = x* - 3x* + 2x - 1

f(x)=3x2—-0x+2f(3)=27-18+2=11
tow ool doles

y—f(a)=Ff(a)(x-a)

s = 3

y—f(3)=f(3)(x—3)y—-5=11(x—3)y—5=11x—-33y=11x-28

(94) &0 rogd o Gin
X =1 aaail sie 1918y wizia) Gwlool] dsleo 2o
f(1)=2-11=1-(1,1)f (x)=(x)(2)—(2x—=1)(1)x2=1x2f(1)=112=1
towboad| doleso
y—f(a)=f(a)(x-a)

veugsid = 1

y—f(1)=f(1)(x=1)y—1=1(x-1)y—1=x—-1y=X
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(96) dxiio nogd o il
s 0oy will fix) = 1 -x 1oLV tizio e asslgll alnail (wilaz] 221 ()a
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f(x)=1-xf(x)=—14f (x)=—12x-14=-12x2x=4x=2x=41(4)=1-4=-1
(1-,4) 1o pwladl ddass

f(x) = x° + 3% - 2 :0LusY| Gizio ke anslgll (bladl) abasill (ila>] 221 Ob
Lasl wloodl ais 055, il

f(x)=—x3+3x2-2 , f(x)=0f (x)=—3x2+6x0=—3x2+6x3x(—x+2)=0x=0
or x=2f(0)=-2f(2)=-8+12-2=2
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(97) &0 rogd o Ginl
(1, 0) abaaidl ais 19LusYl Gimia) wlooll (e s3902)l dlslro a2If(X) = Inx®
f(x)=Inx3,(1,0)f (x)=3x2x3=3xf(1)=31=3
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y—f(a)=-1f(a)(x—-a)
vaseind = 1
y—f(1)=—1f(1)(x=1)y—0=—13(x~1)y=—13x+13
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